
08-06-2025

Liberty Side Guard 

Rear holes on side guard panel (#1) are drilled for all chair configurations, unless otherwise specified. If retrofitting, side guard

receivers may be required
 

Item Number Part Number Description Quantity

1-3, 8 112578 Side Guard Assembly, Rear Drilled, Left 1

1-3, 8 112579 Side Guard Assembly, Rear Drilled, Right 1

1-3, 8 112580 Side Guard Assembly, Rear Drilled, PAIR 1

1-8 506197 Side Guard Assembly with Receiver, Right,
Liberty 1

1-8 506198 Side Guard Assembly with Receiver, Left, Liberty 1

1-8 506199 Side Guard Assembly with Receiver, PAIR,
Liberty 1

1 112574 Side Guard Panel Rear Drilled 1

2 000140 Side Guard Post 1



08-06-2025

Item Number Part Number Description Quantity

3 001342 Side Guard Post Stop 1

4 003439 Receiver, Sideguard, Liberty 1

5 100658 M6 Nylock Nut Blk Zn 1

6 100746 M6 Flat Washer Blk Zn 1

7 100797 M6 x 40 BHCS BLK ZC 1

8 101184 M6 x 10 BTN SHCS BLKZC w/Patch 3


